EEIOEABLVHEI OIS LD
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F1—=>VRIDEE

#HE 1B
BARZ20DBEZINSIETOEROTNSEVET., TAOLHSEALHFTHTHIHEEERD, BO el == = (—i5—
e —— DI EEZDLDITIER
#H 5%

BIEZ2DDEHEZINSIETORBEBDOFNSENGE., TNOPAALHHFRTHIEERERDSBIC
[E, ETAEELRELAEDEETRTIEL, ZORTHADNFRICAIBAEDEDEEEHELE
ER

IM59FETHFHKIL3, 5, 7TT. CNSDFNSE2DERIAEDHREIT. HAEDHEOAKEFES
TEtETEET, E4MICIE. ROKSITHVET,

\[ \binom{n}{k} = \frac{n!}{k!(n-k)!} \]

ZZT.\( n\) [F2E0EAHK. \( k \) FEIEEHTT., SEDIHEE. \( n =3 \) (F
#) & \(k=2)\) TY, LENOT,

\[ \binom{3}{2} = \frac{3!}{2!(3-2)!} = \frac{3 \times 2 \times 1}{(2 \times - Vol 3 \ A< A
Dy BRZERDDINAELTED
DFY., 3DDORTBHYET,

RIS, SNEDORT7EXERBIEFPEELDT, 2BYDQAERABHYET, LEN>T. 2E0HEAE
bEDOHIL.

\[ 3 \times 2 = 6 \]

LBV ET,

LEEY, ID59FETOFHENDSBAL2DDERL. WAL HIFHTHIHERL,

\[ P = \frac{\text{FHLZBEROH} H \text{LBERDHH}} = \frac{6}{36} = \frac{1}
{6} \I

LRV ET,

{£0T. BRI \(\boxed{\frac{1{6}]\) TF. </s>| LIZEDOERHIERICIAD TLVRLY

@7  UCLabW{ 3

NAGOYA Kawaguchi Lab
UNIVERSITY

it
I

/N




rJ0—F

step3

stepl : 387
step2 : #:

LA TCTRIESED

s (CETRBIEZHR—SED
STENNWERERECKHIET D

S—Atwv kb

Training : MATHR > FY—TJ L —Z2

> BAFEDREEX,

5;

Tty hEEOHFEDTFOT -T2V by

sTEBIE, [MEDE

Validation : FfEEHECERNEST—45tv b

Em LI7::ET l-"i;llll!l!
* lim-jp-3-13b-3 j
* LoRA(Low Rank Adaptation) )

dataset question genexated_solution question_ja generated_solution_ja
string - classes string - lengths string - leng string - lengths string - leng
— ) [ | R | I . (| I
2 values 16 4.31k 10 3.44k 1 15k 3 2.93ke
amik Martha has 18 crayons. She lost half of Let's solve this problem using T—YF18FDI L AL EH>TIND, TD¥HELL Pythond— K&EAL T OMBEMRRLE
& them, so she bought a new set of 20.. Python code. <llm-code>.. LTLESADT, LW LAYEWFBRNELL, . Lx>. <lln-code>..

oK Noa scored 30 points to win a bowl, and Let's solve this problem using RONCHOLBIC) TIR30H, 74Uy FREDASE  Pythond— KEMRAL T OMEERRLE
gsm Phillip scores twice that number. What is..  Python code. <llm-code>.. BAELE, KOVCHOEDICIALT 1Yy THBA. L&D, <llm-code>..
nath In a rectangular coordinate system, what is To find the distance between the EREFERICEVT, RAMSE $(-15, 8)$ £TO  Origin $ (0, 0) SOMDEMERDITBIC
a the number of units in the distance from.. origin $(0, 0)$ and the point.. fid (3Gt e N 13, RAROBERTHRA  b$ (-15, ..

[1].https://huggingface.co/datasets/kunishou/OpenMathlinstruct-1-1.8m-ja
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Stepl : BE U CORIE
T ORRDT =512y MefFpk training data : 150,000

input : EK%E@F&EEY validation data : 10,000
output : STEIBIZ[OIZ]x ~— EBEWMEMER UIEIZBIUED h—I> B RHRE L THE TS

{"input': "BEXREEFERICENT. Eahom $(-15, 8)$ X TOIMEBIMEAML. ',

'output': 'Origin $ (0. 0) $OBDIEMEZRDIFTAICIZ. RAFDEEZERTKRA M (-15,
8) $ZRDIFBICIE. BEREXZFEATEET. \n$$ d = \\\\ sqrt { (x_2 -x_1) "2 + (y_2 -
y_1) "2} $$\nZIT. $ (x_1. y_1) $IIBHDRS > FOEETHY. $ (x_2. y_2) $[32BBD
RA Y POBEETY ., \nNRRLIBEESNERSA 2 PDEEZBEBRADE. RDLSITAHRVET, <llm-c
ode>\nfrom sympy import sqrt\n\nxl, yl, x2, y2 = 0, 0, -15, 8\n\ndistance = s
qrt((x2 - x1)*x2 + (y2 - yl)xx2)\ndistance\n</1lm-code><1llm-code—output>\nl7
\n</1lm-code-output>\nL7&MN>T. BRRERA s (=15, 8) $DOEDIERET$ \\\\ boxed
{17} $ unitsT¥, [EZ]17'},
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Stepl : BE U CORIE

[AA] 7
\(y = f(x)\) ®FST7LICH \((2,9\) BHBLE \(y = f(X)\) DISFTLLHTHB= [@ ] '\ O/L/u}q:%ﬁq:t LJ_C}HEH:‘I

BHEELET. ZORD\(X\) ERE\ (y\) BEOHMERDHIZE LN,

i (ERENLIEE () ]
LITId9 R0 £HATHIERTT. BREBYICHLTHEEBELS, 11
#t YR [ [EfR)

LUTREZOMETY. LEBELAARZAVEZAZROTILEE N, \(y = f(xX)\) OFFT7EIC= \
((2,9\) BHBLE \(y = f(=x)\) DISTLELLTHEIEABHFELET, TOHD\ (x\) EEFE
E\N(YW\) BERDORZERDIZE LN,

I Accuracy = 0.07
COBBERRTHHIC. K$y = -F (X) $85% y = f (X) $DF 5T LICEHICIDULMGNE
]

7

WO 7AF72FERATEETY,
COZBAE. R4 B$ (2. 9) $THERS y = f (X) $OISTEICHYET.
$y $&$F (X) =9 $SOBRDBRNSS f $ERR|ISHEMNTEET,

%!I

MAICS 1/x $EBITBE, § f () = 9/x $EMBLET, BRRCO—RESDEOREEXHLA—E
LEMN>T,. $y=-F(X)$in $y =-f (x) $OXEEEILS -2 $TT, VA0

SNRT. $y $&6 —F () $ERS y = f (x) SOFERICEERAT, § y = -F (-x) $4MET LCuLvaL

57,

LEBST. §y = -f (=) $OTSTEORA Y ME$ 2. 9) §TF.
LEMS-T. $ x $8LUV$ y $SEEDEFHES \\ boxed {11} $TT. '[IElxlll
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step2 :HEsRIG (CEITRBREZHR—ES

B : MEE# < 2O BRI ZHECSZ D
1. BEOHMEZFMl(CIEFSEREATHR T D
2. R UTCAREZ B L(CUANT D

> =y hZEEELU LEEOTOERZEIR

\ Bl ROKSIBEATEELTLZS0 |

I

fEIRESL

_@_

ChatGPT

[RIREDEZE] xxx
[5TELETE] xxx
[[E1&] x
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step2 HERIF(CFTRBEZR—SES
UTORRDT —5 7y Ml

input : HARZEDREIFEX training data : 79,000
output : [EIREDFHI/RER A xxx [ETEIBFE]xxx [[EIZ]x validation data : 1,000

» ChatGPT 4o0-miniZ LN TMATH L —Z> 2057 —45t7wv haEICVERK

{'instruction': 'BEXREERICENT, FREhSs $(-15, 8)$ ETOEBEIIMEMM, ',
‘output': '[MBEDFHMLHA] \NERXREFRICENT, AOMERERE (x, y) TREHh
£, COMETIE. BEa (0, 0) 5= (=15, 8) FTOEMERDIVENHY ET. Bl
DFEICIE. 2EMDI—o Yy RIEBOARZEZFEALET. COLRTROLSICHAVET : \n
\N\\[ d = \\sqrt{(x_2 - x_1)72 + (y_2 - y_1)72} \\I\n\nZ ZT. (x1, y1) [ZE
SEDEE (0, 0), (x2, y2) 134 (-15, 8) TF, \n\n[;EHBE]:\nl. EEDEE%E (x
1, yl) = (0, 0) &L. HDOEEEE (x2, y2) = (-15, 8) LT, \n2. EEERDS
FODARICRALET., \n\nEF, xBEDEEHELET :\n\\[ x 2 - x_1=-15-10
= =15 \\I\n\niR([Z, YEEDZEZHELET :\n\\[ y.2 -y 1 =8 - 0 = 8 \\]\n\n3.
EORAEHELET :\n\\[ (x_2 - x_1)*2 = (-15)72 = 225 \\]I\n\\[ (y_2 - y_1)
22 = (8)72 = 64 \\]\n\nd4. ChoZRLEDLEET : \n\\[ (x_2 - x_1)"2 + (y_2 -
y_1)72 = 225 + 64 = 289 \\I\n\n5. REIC. FARERMYET : \n\\[ d = \\sqrt{2
89} = 17 \\I\n\nLZEH>T, REhS= (-15, 8) XTOHERI 17 BTy, [EE]1

7'}
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step2 MEERIFICEIRIBEZHR—=ES

(AN
\y = F0ON) DFSTEICA \((2,9\) BBBEE. \(y = F(-x)\) OF5TLLLT 52

BEEBFELET. TORO\ () ERE (W) BEOTERDEE L, [IE| ] N—O 2 LR fE & U T
(!

UTFS RS EHBT HHERTT, BREBOCHLTHELBER L, [EREN=mE (HmEBER) )

##H BR:

UTHBZOMETT, SEAARERAVEREROTIAEN. \(y = F(\) 0F57 LR 7

\((2,9\) #BBBEE, \(y = F(-x)\) DF5TELBTBEEBFELET, ZDED\ (X )

\VEEBEN (y\) EEEORE KDL, [IEf#]

##H B 7

(BB :

BXonB% \(y = f(x) \) O35 7LICx= \((2, 9)\) BHFELET. Th&W., =
AN((2, 9N\) 28 \(y = fF(X)\) DIYSTLECHBEMDHYET, ZDZEMD. \(f(2)

= 9\) TF, RIS, KHDBIRNEEEH \(y = f(-x) \) DISTIDONWTHEXET., 2T .

\(y = F(\) [, BROREEF>£®H. \(X\) 0% \(-x\) EFBIElLLY, 45 Accura Cy . 0'10
TLOBMATEENET, LENSST, & \((2, O\) [ \(F(-2\) K&oTERINSS

ERLET.

(st EBmE] : %*iEE'E

1. #xTTOREHER ek
(2, 9\) »5.\(f(2) = 9\) &RVET,

IR OREMIZETEINZ AT

2. ¥*RIEDRERDD 1%
REBH \(f(-x)\) 2EXZT,
\ [
f(-2) = 9 \quad \text{TY. }
\]
£oT. =2\ (2, 9)\) BREFEhEAZ \((-2, 9)\) TT.

3. +xEROMEEE o+
= A\(=2, 9\) O \(\)EFRE \(Y\)EREERLET,
\ [
X +y=-2+9 =7 \quad \text{T%¥. }
\1

i 7 'C?‘.,H[IEI§]7.
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step3: STE DB ERBREA DM T
T oo —91ty MVERk

input : BARFEDREIRES
output : [[EIREDFFHIRERERIxxx [python 1 — R]xxx

training data : 79,000
validation data : 1,000

» ChatGPT 4o0-miniZFHLNTMATH L —Z> 2057 —45 17w haEICVERK

{'instruction': 'BEREERICENT. RahSm $(-15, 8)$ L TOIEBEIMAEAL, ',
‘output': ' [FEEOHMAHA] \nEXEERICEVT. B= (R (0, 0)) PORBEDNR
(ZoZEIFR (15, 8)) £TOIEMMEKRDSMBETYT, COERETI—I )y RIEBEICK>T

FEENET, \n\n21—2 Uy REBEIIROAXTERENET : \n\n\\[\nd = \\sqrt{(x_2

- x1)72 + (y_2 = y_1)?21\nm\\J\n\nZ ZT. \\( (x_1, y_1) \\) BE=DEE (0,

0) THY. \\( (x_ 2, y_2) \\) (= (-15, 8) DEETYT., CDEH. 2XICKATS &

RDESITHEYET : \n\n\\[\nd = \\sqrt{((-15) - 0)*2 + (8 - 0)"2}\n\\]\n\nZ

DREFHETSHLT, = (=15, 8) XTOEREZRDSZENTEEXT, \n\nl[pythond—
R1:\n" " "python\nimport math\n\n# EEfE\nx1l, yl = 0, 0\nx2, y2 = -15, 8\n\n#

-4V vy REEBEDETE \ndistance = math.sqrt((x2 — x1) **x 2 + (y2 - y1) *x 2)

\nprint(int(distance))\n" "'}
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SR EIRRIREA DXL

[A7]

Ay = fOI\) ©F5TEICE \((2,9\) BHBEE \(y = f(-x)\) OFFTLLHT — Kk " W =/

HEIRABFELET. TORD\(X\) EEE\ (Y\) EEOMERDEE N, :I l\j I:I J 0%?$ Hj ngé'f—-r

UsE]

LITR>O RS EHBTBIERTYT. BEREBNCH L THEEEEHE,

#H# 1R

LTRBZOMETY. LEAAXZAVEZERHDTIEZV, \(y = f(X)\) ®F5TEIC=H {COde]

\((2,9\) BHBEE. \(y = F(-x)\) DISTLCLTHIABFELET. ZDRD\(x .

\EEEEN (Y\) BEEORE RDEE |, X_coordinate = -2

#iH# ISE:

(MBS y_coordinate = 9

B \( f(x) \) OFSFTIBENT. = \((2, 9\) BEXASKTHET, COZEMS, & — 4 J
£AHE) = 5 \) MEOTS TS, S5, WA \( 110 \) #4557 LR result = x_coordinate + y_coordinate

=0\ x\) EFEE\(y\) EREOMERDD LS [CROSNATNET,

—— print(result)
£\ f(—x) \) 2EZBL:

Al [RITHER]

f(-x) = f(x) \quad (x \ne 0)

\]

Lo T, 7

\ [

f(-2) = f(2) =9 [IEﬁg]
\]

DY, \( f(-2) = 9\) ILAVET., ChICLY. \( f(x) \) DFFTECEHTS \ 7

((=2, 9N\) BHBELLBYET,

RIT, KHOSNTNBRADERE \( (-2, 9) \) TF, ThickY, MEAXTRHSNTIVS
IXEERE & yEEROR] (FRODL S [CRENET:

\ [
M o g s - e Accuracy : 0.12
\]
W —/,— N= e A\ Ly, | —
Li#ioT, COMEOREE \( -3 \) TF. —_ |\ “%Ehﬁ —-I' b\ [=]
| ees e A , > 11— FOEITCTEMISETE N AIREEIC
: [pythona—K]: 1
1 " python :
: xicoord%nate = -2 L
1 y_coordinate = 9 1
1 result = x_coordinate + y_coordinate 1
I print(result) :
1
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m=AEETIV

>
-

step3DZEAF T3epochilllfiE : Accuracy : 0.14

train/loss )] * - eval/loss * 0

0.45 0.45
0.4
0.4
0.35
0 50k 100k 150k 200237000 > 0 50k 100k 150k 200 237000 >
/. 7
@7  UCLabW{

NAGOYA Kawaguchi Lab
UNIVERSITY



&

3DDATY T CHFTTEFDORBEDIEfFRZM L
o stepl:IBEULCEATHEZEETED
o step2 JERIF(CETEBAIEZH—=ED
o step3: 5B NHMRERBECHIGEESD

> ERiREY(C14/100f % AR O] BETRTET )L ZHEER
SEDESE
« STE=XHURWET)LDIEZE
> HERNICBSERUHTRE L THS

e EERPICZRICTIOVERICHR URPEDIET)LOIEE
> EIBEDSHZBEZKCHRZ UERRLS (CHIRDOER
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fTix

template = (
"LAIFIEY R ZHRBTHIERTT . EREZBYVICHZTHEEEEZE . \n\n'
" IR O\NLUTIBZOMBETY, LELAAXNZAVNEZZROH TS ZE L, {instruction}\n\n"
" 5 \n{outputl}"
+ tokenizer.eos_token

)

training_args = TrainingArguments (

output_dir=save_path,
num_train_epochs=1,
save_steps=10000,
logging_steps=1000,
logging_dir=save_path,
per_device_train_batch_size=1,
per_device_eval_batch_size=1,
learning_rate=1e-4,
auto_find_batch_size=True,
evaluation_strategy="steps",
eval_steps=1000,
remove_unused_columns=False,
report_to=["tensorboard"],

lora_config = LoraConfig(
=828
lora_alpha=256,
target_modules=["q_proj", "v_proj"l,
lora_dropout=0.1,
bias="none"
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